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10.60 10.60 10.60 10.60 10.60 10.60 10.60

NO 0 ~ NO 1 20.00 11.00 | 216.00 11.00 [ 216.00 11.00 | 216.00 11.00 | 216.00 11.00 | 216.00 11.00 [ 216.00 11.00 | 216.00
11.00 11.20 11.20 11.20 11.10 11.05 11.00

NO 1 ~ NO 2 20.00 10.90 | 219.00 11.10 | 223.00 11.10 | 223.00 11.10 | 223.00 11.00 | 221.00 10.95 | 220.00 10.90 | 219.00
10.90 10.90 10.90 10.90 10.90 10.90 10.90

NO 2 ~ NO 2+4 4.00 9.00 39.80 9.00 39.80 9.00 39.80 9.00 39.80 9.00 39.80 9.00 39.80 9.00 39.80
9.00 9.20 9.20 9.20 9.10 9.05 9.00

NO 2+4 ~ NO 3 16.00 8.35 | 138.80 8.55 | 142.00 8.55 | 142.00 8.55 | 142.00 8.45 | 140.40 8.40 | 139.60 8.35 | 138.80
8.35 8.35 8.35 8.35 8.35 8.35 8.35

NO 3 ~ NO 3+7 7.00 8.35 58.45 8.35 58.45 8.35 58.45 8.35 58.45 8.35 58.45 8.35 58.45 8.35 58.45
8.35 8.50 8.50 8.50 8.40 8.35 8.35

NO  3+7 ~ NO 4 13.00 8.00 | 106.28 8.20 | 108.55 8.20 | 108.55 8.20 | 108.55 8.10 | 107.25 8.05 | 106.60 8.00 | 106.28
8.00 8.20 8.20 8.20 8.10 8.05 8.00

NO 4 ~ NO 5 20.00 7.70 | 157.00 7.90 | 161.00 7.90 | 161.00 7.90 | 161.00 7.80 | 159.00 7.75 ] 158.00 7.70 | 157.00
7.70 7.90 7.90 7.90 7.80 7.75 7.70

NO 5 ~ NO 5+17 17.00 8.00 | 133.45 8.20 | 136.85 8.20 | 136.85 8.20 | 136.85 8.10 | 135.15 8.05 | 134.30 8.00 | 133.45
7.50 7.90 7.90 7.90 7.70 7.60 7.50

NO 5+17 ~ NO 6 3.00 7.50 22.50 7.90 23.70 7.90 23.70 7.90 23.70 7.70 23.10 7.60 22.80 7.50 22.50
7.50 7.90 7.90 7.90 7.70 7.60 7.50

NO 6 ~ NO 7 20.00 7.50 | 150.00 7.90 | 158.00 7.90 | 158.00 7.90 | 158.00 7.70 | 154.00 7.60 | 152.00 7.50 | 150.00
7.50 7.90 7.90 7.90 7.70 7.60 7.50

NO 7 ~ NO 8 20.00 7.50 | 150.00 7.90 | 158.00 7.90 | 158.00 7.90 | 158.00 7.70 | 154.00 7.60 | 152.00 7.50 | 150.00
7.50 7.90 7.90 7.90 7.70 7.60 7.50

NO 8 ~ NO 8+18] 18.00 7.50 | 135.00 7.90 | 142.20 7.90 | 142.20 7.90 | 142.20 7.70 | 138.60 7.60 | 136.80 7.50 | 135.00

St 178.0 1,526.3 1,567.6 1,567.6 1,567.6 1,546.8 1,5636.4 1,526.3
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4.40 4.40 4.40 4.40 4.40 4.40 4.40

NO 0 ~ NO 1 20.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00
4.40 4.40 4.40 4.40 4.40 4.40 4.40

NO 1 ~ NO 2 20.00 4.35 87.50 4.35 87.50 4.35 87.50 4.35 87.50 4.35 87.50 4.35 87.50 4.35 87.50
4.35 4.35 4.35 4.35 4.35 4.35 4.35

NO 2 ~ NO 3 20.00 4.40 87.50 4.40 87.50 4.40 87.50 4.40 87.50 4.40 87.50 4.40 87.50 4.40 87.50
4.40 4.40 4.40 4.40 4.40 4.40 4.40

NO 3 ~ NO 4 20.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00
4.40 4.40 4.40 4.40 4.40 4.40 4.40

NO 4 ~ NO 5 20.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00
4.40 4.40 4.40 4.40 4.40 4.40 4.40

NO 5 ~ NO 6 20.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00
4.40 4.40 4.40 4.40 4.40 4.40 4.40

NO 6 ~ NO 7 20.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00
4.40 4.40 4.40 4.40 4.40 4.40 4.40

NO 7 ~ NO 8 20.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00
4.40 4.40 4.40 4.40 4.40 4.40 4.40

NO 8 ~ NO 9 20.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00
4.40 4.40 4.40 4.40 4.40 4.40 4.40

NO 9 ~ NO 10 20.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00
4.40 4.40 4.40 4.40 4.40 4.40 4.40

NO 10 ~ NO 11 20.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00
4.40 4.40 4.40 4.40 4.40 4.40 4.40

NO 11 ~ NO 12 20.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00
4.40 4.40 4.40 4.40 4.40 4.40 4.40

NO 12 ~ NO 13 20.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00
4.40 4.40 4.40 4.40 4.40 4.40 4.40

NO 13 ~ NO 14 20.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00 4.40 88.00
4.40 4.40 4.40 4.40 4.40 4.40 4.40

NO 14 ~ NO 15 20.00 4.35 87.50 4.35 87.50 4.35 87.50 4.35 87.50 4.35 87.50 4.35 87.50 4.35 87.50
4.35 4.35 4.35 4.35 4.35 4.35 4.35

NO 15 ~ NO 16 20.00 4.20 85.50 4.20 85.50 4.20 85.50 4.20 85.50 4.20 85.50 4.20 85.50 4.20 85.50
3.60 3.80 3.80 3.80 3.70 3.65 3.60

NO 16 ~ NO 17 20.00 3.60 72.00 3.80 76.00 3.80 76.00 3.80 76.00 3.70 74.00 3.65 73.00 3.60 72.00
3.60 3.80 3.80 3.80 3.70 3.65 3.60

NO 17 ~ NO 17+10 10.00 3.60 36.00 3.80 38.00 3.80 38.00 3.80 38.00 3.70 37.00 3.65 36.50 3.60 36.00

B 350.0 1,512.0 1,518.0 1,518.0 1,518.0 1,515.0 1,513.5 1,512.0
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